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B.Com. DEGREE EXAMINATION, NOVEMBER 2017

(CUCBCSS—UG)
BCM 5B 11—FINANCIAL MANAGEMENT

FIFTH SEMESTER

Maximum : 80 Marks

. i,
Time : Three Hours

Part |

Answer all questions.
Each question carries 1 mark.

(A) Choose the correct answer from the choices given :
1 Discounting technique 18 used to :
(a) Find out future value of money.

(b) Find out present value of money.

(¢) Find out both future and present value of money.

(d) None of the above.

9 Which of the following .« the short-term source of funds :

(b) Share.
(d) None of these.
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3 C 30259

23 A project costs Rs. 20,00,000 and yields a profit of Ks. 4.00,000 annually for 10 years, The

profit is before depreciation and taxes. You are required to caleulate the payback period

assuming 50% tax rate and depreciation on straight line method.

24 Explain the limitations of financial leverage.

95 What are the different types of dividend policies 7

96 What are the advantages of issuing bonus shares 7

98 A company issues 10,000,
share. Calculate cost of preference capital if these shares are 188U

of 10%, and (c) at a discount of 5%.

30 The following figures relating to two companies :
A Ltd (in lakhs) B Ltd (in lakhs)

. Sales 1,000 2,000
Variable costs 400 600
Contribution 600 1,400

300 800

300 600

Interest 100 200

Profit before tax 200 400

You are required to :
for the two

everage, financial and combined leverages

(i) Calculate the operating ]
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31 A project costs Rs. 1,00,000 with an ostimated cash inflows of Rs
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